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3XWUL�6XFL�5DPDGKDQL ������ � 7LQMDXDQ� (OHFWURQLF� :RUG� RI� 0RXWK�
0HGLD� 6RVLDO� ,QVWDJUDP� /XS� /XS�
-XUDJDQ

3HPELPELQJ ���2NNL�7ULQDQGD��6(��0�0�

3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN� PHQJHWDKXL� EDJDLPDQD� (OHFWURQLF� :RUG� RI�
0RXWK SDGD� 0HGLD� 6RVLDO� ,QVWDJUDP� /XS� /XS� -XUDJDQ�� 7HUGLUL� GDUL� LQGLNDWRU��
3ODWIRUP�$VVLVWDQFH� 9HQWLQJ�1HJDWLYH�)HHOLQJV� &RQFHUQ� IRU�2WKHU�&RQVXPHUV��
([WUDYHUVLRQ� ��3RVLWLYH�6HOI�HQKDQFHPHQW� 6RFLDO�%HQHILW� +HOSLQJ� WKH�&RPSDQ\��
GDQ $GYLFH�6HHNLQJ� 0HWRGH�SHQHOLWLDQ�\DQJ�GLJXQDNDQ�SDGD�SHQHOLWLDQ�LQL�DGDODK�
PHWRGH�GHVNULSWLI��'LODNXNDQ�GHQJDQ�NXLVLRQHU�RQOLQH�NHSDGD�SHQJLNXW�,QVWDJUDP�
/XS�/XS�-XUDJDQ��

%HUGDVDUNDQ�SHQHOLWLDQ� \DQJ�GLODNXNDQ�GDSDW�GLVLPSXONDQ�EDKZD�(OHFWURQLF�
:RUG�RI�0RXWK SDGD�,QVWDJUDP�/XS�/XS�-XUDJDQ�VXGDK�EDLN�GHQJDQ�7&5��������
GDQ�EHUDGD�SDGD�NULWHULD�FXNXS�WLQJJL�
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